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Note: Attempt Questions from Sections A, B, C.
Section A: Answer all of the following questions
[10X 1=10]

Pt

. Why do we have a constant of integration. -
If total cost TC =i x3+5x2+10x+5, find marginal cost(MC).

e

If a curve is concave upwards or convex downwards its rate of change
will and dzy/dx wil
Using diagram show what is a pomt point of inflexion’.
What are implicit functions?
~Trtegrate [ (7 FCosx)dx

e

SIS I

—If demand- function-is p=2(100- f).Find the total revenue. function where x is the
output.
Ifg(x)=5x 312x%43x +2.Find g” (x)

. y=log(log x), find dy/dx '

'"‘10 What do you understand by range of a functlon‘? e

\o:po

Sect1on B Answer ny fou quest1ons from this sectlon

- [4X5=20] .
1+ Integrate-
" 2 3x - 2% 1+Sm 2x
(@) I = fx e dx (b) I= f —_—
2. Find dy/dx for the following functions in parametric form
(a) X=at’, y=2at (b) x=alogt, y=bt’
3. If u=x2y+)rzz+zzic, show that
du au du _ 2
™ 4 E —= (x+y+z)
R N company S average cost-funetion-is- gwen by- ACm—— - 5x+2-and revenue functlon is

3%. Find x at which profit of the company is mamzed.




. Section C:Answer all the.questions__

.

5. Ifthe demand function is p=4-5x2,F0r what value of x the elasticity of demand will be
unity? ' '
_ o [10X2=20]

1.A demand function for a monopolist’s product is p=400-2x and the-average cost

function 8 AC=U.2X F4+ —%anmzwmd‘pmlﬂh S U——

_government imposes a tax of rupees 22 per unit on the monopolist,find the new profit
maximizing output and price. What is the profit now?

"2 Discuss the concept of maxima and minima of a function using suitable diagrams.In
this context discuss the concepts of ‘immediate neighbourhood’, ‘extreme
values’,’several maximun’and ‘necessary and sufficient conditions’. . : LR
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